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LCM AND HCF WORKSHEET 
 
 

16. LCMof two prime numbers x and y (x>y) is 161. The value of 3y-x is, 
x,y vd;w ,U gfhvz;fspd; kP.rp.k 161 MFk;. xMdJy-I tplg;nghpaJ (x>y)vdpy; 3y-x 
d; kjpg;G 

 

17. Arrange inAscending order 3 126412, 20, 25, 80, 112  

VW thpirapy; vOJf. 3 126412, 20, 25, 80, 112  

 
18. The L.C.M. of two co- prime number is 5005. If one of the numbersis 65 then find the 

other number. 
,Urhh; gfhvz;fspd; kP.rp.k 5005. Xh; vz; 65 vdpy; kw;nwhUvz; vd;d. 

 
19. If the sum of two numbers is 55 and the HCF&LCM of these numbers are 5 and 120 

respectively. Then the sum of the reciprocals of the numbers is equal to 
,Uvz;fspd; $Ljy; 55.mt;tpuz;Lvz;fspd; kP.ngh.t kw;Wk; kP.rp.k. KiwNa 5 kw;Wk; 
120 vdpy; mt;ntz;fspd; jiyfPopfspd; $Ljy; 

 
20. The least perfect square number divisible by 3,4,5,6 and 8 is  

3,4,5,6, kw;Wk; 8- My; tFgLk; kPr;rpWth;f;fvz;. 
 
 
 

 
 
 
 
 
 


